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QUESTION 1

A developer wants to iterate through an array of objects and count the objects and count the objects whose property
value, name, starts with the letter N. Const arrObj = [{"name" : "Zach"} , {"name" : "Kate"},{"name" : "Alise"},{"name" :
"Bob"},

{"name" : "Natham"},{"name" : "nathaniel}

Refer to the code snippet below:

01 arrObj.reduce(( acc, curr) =>{

02 //missing line 02

02 //missing line 03

04).0);

Which missing lines 02 and 03 return the correct count?

A. Const sum = curr.startsWith('N\\') ? 1: 0; Return acc +sum

B. Const sum = curr.name.startsWith("N\\') ? 1: 0; Return acc +sum

C. Const sum = curr.startsWIth("N\\') ? 1: 0; Return curr+ sum

D. Constsum = curr.name.startsWIth("N\\') ? 1: 0; Return curr+ sum

Correct Answer: B

QUESTION 2

Developer creates a new web server that uses Node.js. It imports a server library that uses events and callbacks for
handling server functionality.

The server library is imported with require and is made available to the code by a variable named server. The developer
wants to log any issues that the server has while booting up.

Given the code and the information the developer has, which code logs an error at boost with an event?
A. Server.catch ((server) => { console.log( ERRORV\\, error); });

B. Server.error ((server) => { console.log( ERRORV\\, error); });

C. Server.on (‘error\\, (error) => { console.log( ERROR\\, error); });

D. Try{ server.start(); } catch(error) { console.log( ERROR\\, error); }

Correct Answer: C

QUESTION 3
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Refer to code below:

Let productSKU = "8675309\\' ;

A developer has a requirement to generate SKU numbers that are always 19 characters lon,
starting with “sku\\', and padded with zeros.

Which statement assigns the values sku0000000008675309 ?

A. productSKU = productSKU .padStart (19. “0\\').padstart("sku\\");

B. productSKU = productSKU .padEnd (16. "0\\').padstart("sku\\’);

C. productSKU = productSKU .padEnd (16. “0\\').padstart(19, “sku\\");

D. productSKU = productSKU .padStart (16. "0\\').padstart(19, “sku\\);

Correct Answer: D

QUESTION 4

Given the JavaScript below:

01 function filterDOM (searchString) {

02 const parsedSearchString = searchString andand searchString.toLowerCase() ;
03 document.quesrySelectorAll(" .account\\' ) . forEach(account => (

04 const accountName = account.innerHTML.toLOwerCase(); 05 account. Style.display =
accountName.includes(parsedSearchString) ? /*Insert code*/;

06)};

07}

Which code should replace the placeholder comment on line 05 to hide accounts that do not match thesearch string?
A. " name \\': " block \\

B. " Block \\': " none \\

C. " visible \\': " hidden \\

D. " hidden \\' : " visible \\

Correct Answer: B

QUESTION 5

Refer to the following code:
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11 console.logioutpu
What isthe value of output on line 117
A1, 2]
B. ['Wfoo\\'\V, "\Wbar\\'\\]
C. ['\Wfoo\\'\\:1, "\Whar\\'\\:2\\\\]
D. An error will occur due to the incorrect usage of the for...of statement on line 07.

Correct Answer: D
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